OVERHEAD HOLDERS OR STOPS MUST BE
A. DETERMINE THE MOUNTING BEING USED FROM ILLUSTRATION BELOW.

l.

INSTALLED BEFOR

E CLOSERS

B. SELECT MOUNTING GROUP NUMBER FROM CHART BELOW. MOST CONTINUOUS HINGES ARE

GROUPED WITH 4 1/2"

WIDE BUTT OR 4 1/2"

SWING CLEAR HINGE.

C. USING THE MOUNTING GROUP NUMBER AND THE OVERHEAD HOLDER OR STOP SI1ZE
AND THE DEGREE OF OPENING DESIRED, FIND "A"™ AND "B" DIMENSIONS FROM CHART
ON PAGE 3. FOR DEAD STOP ADD 7/8"(22) TO THE "A"™ AND "B" DIMENSIONS
FROM THE CHART. SEE NOTE D FOR INFORMATION ABOUT DEAD STOP.
i v [ A DOOR REINFORCEMENT
| ! (SEE NOTE B)
r_.|____|="=| A
p o |: l—— A A
RN \ S ' T
| Lo Cc-=——F—-—=—=——===3 I | | | | |
! | L | | | | | _JTW
I l'_'| _=I_ l'_'| - O l'_'| F_J
[ ! b T 1 | . | r__i ;
» - i R
1 [ [ [ [ [ [
[ B 1 1 o [ [ [ [
I : [ [ 1o [ [ [
1 [ 1 [ [ [ [ 1 [ [ 1 [ 1
[ FRAME RE INFORCEMENT CENTER HUNG OFFSET PIVOT SWING CLEAR
| |
- (SEE NOTE A) HINGE HINGE HINGE
«:f::
o | 79 SERIES DOOR MOUNT ING
! 71 1 PLAN MOUNTING VIEW - LH SHOWN | THickNess| MINGE TYPE & STYLE | apaq p
BUTT HINGE 4" WIDE BUTT 1
4 1/2" WIDE BUTT 1
5" WIDE BUTT 1
1 3/4"
(44mm) 3/4" OFFSET PIVOT 1
4 1/2" SWINGCLEAR 1

NOTES: =

A. HOLLOW METAL FRAMES SHOULD BE PROPERLY REINFORCED 5" SWINGCLEAR
WITH A 3/16™(5) MINIMUM THICKNESS BY 12" (305) CENTERHUNG P1VOT 2
MINIMUM LENGTH PLATE. —

B. HOLLOW METAL DOORS SHOULD BE PROPERLY REINFORCED 4 1727 WIDE BUTT !
WITH A 3/16™(5) MINIMUM THICKNESS BY 2 1/2"(64) 5" WIDE BUTT 1
MINIMUM WIDTH PLATE.

w 1

C. STOP ONLY UNITS ARE PERMITTED ON MANY FIRE DOOR 2" 374" OFFSET PIVOT
APPLICATIONS. HOWEVER, MECHANICAL HOLD-OPEN DEVICES (S1mm) 4 1/2" SWINGCLEAR 1
THAT REQUIRE MANUAL RELEASE ARE NOT PERMITTED FOR USE o+ SWINGCLEAR N
ON ANY FIRE DOOR AS OUTLINED ON NFPAS0 ® OR NFPA10! ®.

D. DEAD STOP (DS) TEMPLATING MAY BE USED ON HOLD OPEN S0SS 220 !
AND STOP ONLY MODELS. THE DS POSITION 1S REACHED WHEN THE] CENTERHUNG P1VOT 2
SHOCK SPRING IS FULLY COMPRESSED. WHEN DS TEMPLATING + /2" WIoE BUTT
IS USED, THE INITIAL DEGREE OF STOP WILL BE 5°-7° LESS !
THAN THE DS OPENING. FOR USE ON DOORS OPENING . 5" WIDE BUTT 1
BACK-TO-BACK, AGAINST A WALL OR OBSTRUCTION. (57mm) pr—— n

CENTERHUNG PIVOT 2
SCREW DETAILS
aTty WOOD METAL

HOLD-OPEN TENSION ADJUSTMENT - = 167 18 1/ FPRvS

USING A 3/4™ WRENCH, TURN NUT AT THE  [JAMB| 4 *#18 x 2" FPHSMS x

END OF BAR. TO INCREASSE THE HOLD-OPEN 2 | 5/16"-18 x 2 172" PPHMS 5/16"-18 x 2 1/2" PPHMS

TENSTON, 'TURN NUT CLOCKWISE. TO 5/16"-18 HEX CAP NUTS 5/16™-18 HEX CAP NUTS

DECREASE THE HOLD-OPEN TENSION, TURN DOOR| 2

NUT COUNTER-CLOCKWISE. ST | FLAT WASHER FLAT WASHER

3 SPLIT LOCK WASHER SPLIT LOCK WASHER
DOOR| 2 | @ 1/2" x | 9/16™ SEX BOLTS | @ 1/2" x | 9/16" SEX BOLTS
SEX
BOLT [ 2 | 5/16™-18 x 1 1/2" FPHMS | 5/16™-18 x 1 1/2" FPHMS

/9 SERIES SURFACE OVERHEAD
INSTALLATION TEMPLATE

HOLDER

@R GLYNN-JOHNSON.

NOTE: DIMENSIONS IN ( ) ARE MILLIMETERS.

EMLATEINST . 79.PG1_1

DATE:

04-15-04

®




2. A. LOCATE "B™ DIMENSION ON THE STOP. NOTE THAT THE "B"™ DIMENSION IS MEASURED

FROM THE CENTERLINE OF THE HINGE AS SHOWN.

B. FOR METAL FRAMES, USE A F DRILL AND A 5/16"-18 TAP IN 4 PLACES. FOR WOOD

FRAMES, DRILL A 1/4" PILOT HOLE IN 4 PLACES.

B" (152)
1" (25)
1 1/2"(38)
B —»
on (51 ) 1" (25)
172" (13) —1/2"(13)
1" (25) 1 1/27(38)

JAMB BRACKET

3. A. LOCATE "A" DIMENSION ON THE DOOR. NOTE THAT THE
THE CENTERLINE OF THE HINGE AS SHOWN.
B. CHOOSE THE TYPE OF FASTENERS BEING USED TO MOUN
MOUNT ING HOLES SHOULD BE PREPARED IN THE FIELD.
l. USING SCREWS, FLAT WASHERS, SPLIT WASHERS, A
PROVIDED, DRILL 1 3/4"(44) DOWN FROM STOP 11
DOOR IN 4 PLACES.
2. OPTIONAL, USING SEX BOLTS, DRILL 1 3/74™(44)
DIAMETER THROUGH DOOR IN 4 PLACES. NOT PROVI
AVAILABLE ON REQUEST.

HOLLOW METAL JAMB

"A" DIMENSIONIS MEASURED FROM
T THE DOOR BRACKET TO THE DOOR.

ND HEX CAP NUTS WHICH ARE
/32" (13) DIAMETER THROUGH

DOWN FROM STOP 1/2"(13)
DED STANDARD, BUT

RE INFORCEMENT .

- B = (SEE NOTE A) e (152)
— AT ADJUSTMENT 2

ST 1 1/4"(32)

| 1 1/4"(32)—1<————>
| ST -
| 1 174" _ i -
l N (32) CF q) (b (>
|| —focaT= ¥
|
| L1 o34 ENGAGEMENT 3 1/2"
M?RONT E|_F|a-:0|\7l;\l§|_RI ON . et A
1 174" (32) — 1 1/4"(32)

4. A. INSTALL JAMB BRACKET ON THE STOP.
B. INSTALL THE DOOR BRACKET ON THE DOOR.

DOOR BRACKET

79 SERIES SURFACE OVERHEAD
HOLDER INSTALLATION TEMPLATE

@R GLYNN-JOHNSON.

NOTE: DIMENSIONS IN ( ) ARE MILLIMETERS.

DATE:

TEMPLATE INST . 79.PG2_1|04-15-04




@R GLYNN-JOHNSON.

DATE:
04-15-04

INST./8.PG3_1

TEMPLATE
NUMBER

oLL 80t 9Lz 61+ 182 ZEY 00E 8t 11€ SS9t =743 €8t ¥¥E |BbbI1-9621| WU
91/5 0g |91/1 91 |8/L 01 | 2/1 91 [91/5 11 L1 BI/ET 11| 8/5 L1 | ¥/1 21 |91/5 8T |91/ET1 2l 61 91/6 ET|L5-91/1 15| °NI .
189 2se yz2 G9E oez SLE %2 16€ 842 oot S92 o1y 642 |Se21-vH11| Wu N
9I/E1 92| 8/L €1 |91/E1 B | B/E ¥1 | 91/1 6 |¥/E ¥1 | 2/1 6 |8/E Gl | ¥/E 6 | ¥/E GI |91/L 01| 8/E 81 11 16-91/1 G| NI | W
265 862 89l 90€E Ll 12e 8LI1 62€e e8I LEE €02 [§=1 14 P Ev1T1-266 | WW o
a1/g €2|v/€ 11 | 8/S 9 |91/1 21 |91/51 9] 8/5 21 L |91/81 21| 9I/L L |¥/1 €1 8 Q1/€1 EI1[ 8/E 8 |S¥-91/1 6E| °NI ¢m>m
$25 %2 611 162 221 LSz 621 L92 EET oLz o1 6Lz 9G1 166-6€8 | ww | m
850 | e/16 (91/11 v | 8/L6 (91/E1T ¥ |8/1 01 |Q1/1 G |2/1 01| #/1G |8/S01 | v/€S 11 8/1 8 |6€-91/1 €€| °NI mnm
osh - - 902 06 g1z ¥6 L12 Zo1 vzz 801 0EZ orl geg-,89 | wu
91/81 L1 - - 8/18 |9I/6E| 8EB [9I/IT E|91/6 8 4 Ql/ET 8| v/1 v | 91/1 6| 91/6 ¥ |EE-91/1 L&]| *NI .
oLL 20% 9Lz 80+ 262 S2b 20€ 844 91E o9y OEE - - ZLET-YPTT| ww
91/G 0E BI/ET GI(8/L O1 [Q1/1 91 | 2/1 11 | v/E 91 | B/L 11 | B/E LT (91/L 21 ]|8/1 81 El - - ¥5-91/1 G| °NI %4
189 B8+E 122 65E 0EZ oLE 1¥2 8LE L52 26€E 1,2 o1t ogz |EvI1-266 | ww | |
91/E1 92PI/11 EI|91/11 8| 8/1 1 |91/1 6 |91/6 ¥1| 2/1 6 |8/L ¥1 | 8/1 O1 |91/L ST |91/11 O1] 8/1 91 | #/1 11 |G¥-91/1 6E| *NI umnw
265 BOE el EIE S91 91€E 6.1 ¥2E 261 GEE €02 ovE 612 166-6€8 | ww xﬂm
a1/ €2|8/1 21 | 91/1 9 |81/G 21| 2/1 9 |[91/L 21| 9Q1/1 L | v/€ 21 | 91/6 L |91/E EI 8 8/S E1 | 8/G 8 |6E-91/1 EE| *NI 2
$25 0EzZ 911 BEZ 221 orz OE1l o952 BEIT cgz Br1 182 $S1 BEB-.B9 | wuw nmnm
8/6 02 |91/16 | 9i/6 ¥ | 8/£E6 QI/El ¥ |91/11 6| 8/1 G |91/1 01| 91/L S |91/L OT [SI/ET S|91/1 11| 91/1 9 |€€-91/1 [2| °NI g
oSk - - - - 90z 68 912 s6 Gz2 201 LEZ 801 989-585 | ww |
91/81 L1 - - - - 8/18 | 2/TE | 2/18 | vWEE]| B/LS 14 91/5 6| ¥/1 ¥ |L2-91/1 E2| °NI 4
Emo<zmm_._ g v g v q v q v q v g v ozmHozouan_o ‘nia
OH 011 OH 501 OH 00T OH S6 OH 06 OH SB 334930
SdO1S HO04 9NIN3IJO “SH3IAATIOH Y04 N3IJO-A710H=0H
SNOISNINIAQ .9. ANV LY. JIHL OL (22) .8/L 4AV d0L1S avaa 4od

4000 40 3903 1ON °“L1OAId 40 3ANITHILNIO
JdHL WOH4d ad3dNsSY3aW 34V SNOISNIANIJ

d30710H ¥ dO1lS AVIHYIAO JoVIdNS S41d3dS 6L
[ SdNOY9Y 9NT LNMNOW

s

:m: .w

=<=

iNOILNVD

INSTALLATION TEMPLATE

/9 SERIES SURFACE OVERHEAD

HOLDER

DIMENSIONS IN ( ) ARE MILLIMETERS.

NOTE




